Lu,‘e'f WIJEC 2015 Online Exam Review

cbac

GCE Computing CG1 1101-01

All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 2736 2.2 0.9 3 73.4 98.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Answer

Mark

AO1

AO2

Any three from:

Database would be easy to and quick to search for a book or member details
Easy to back up book or member details in a computerised database

It is easy to overwrite / amend / update book or member details in a database
Database allows useful reports such as all overdue books or reminder letters to
members to be produced

Database can automatically alert user about overdue books

Database allows different access rights for different library staff







Lo e detabose than an

fa) A computerised dalabase system stores data about books and the members of a library.
Describe how the library benefits from using this database. 13]
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Sticky Note

Only one mark for easy to find a member idea. The rest is not worth any marks. 






fa) A computerised database system stores data about books and the members of a library.
Describe how the library benefits from using this database. 13]
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Sticky Note

One mark 
Saving space is not an acceptable answer. One mark for faster searching even though answer does not state what they are searching for, the answer is supported with comparison to manual searching. 






5. (a) A computerised database system stores data about books and the members of a library.
Describe how the library benefits from using this database. [3]
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Sticky Note

Two marks 
Good answer about searching. 
Good answer about producing reports. 
Answer about connecting to a network is not worth credit in the question context. 






(a) A computerised database system stores data about books and the members of a library.
Describe how the library benefits from using this database. [3]
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Sticky Note

Three marks 
Good searching answer. 
One mark for books and members can easily be updated. 
No mark for saves space but goes on to describe that database can easily be backed up. 






5.

(@) A computerised database system stores data about books and the members of a library.
Describe how the library benefits from using this database. [3]
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(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and another measure that would make the data

unusable by the hacker. [2]
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(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and another measure that would make the data
unusable by the hacker. 2]
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(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and another measure that would make the data
unusable by the hacker. (2]
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(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and lnou'nr maasura that would make the data

unusable by the hacker. 61' ,..) nalibe, by i H"“t dehuds e “42]
One M%ML b ‘M\oumkbf Lot hawl.. i Aol . 19%
nodcls b' b v flo \ __I: meuobvusﬂ ?« ?«uo\é;
pu 7% b IR A ol ax wrlu,no('
zn" P\f} e Mall R







Answer

Mark

AO1

AO2

(c)

Prevent access — Authentication / Firewall

Make the data unusable — encrypt the data







(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and another measure that would make the data

unusable by the hacker. [2]
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Sticky Note

Two marks - Good answer 






(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and another measure that would make the data
unusable by the hacker. 2]
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Sticky Note

Two marks - Good answer 






(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and another measure that would make the data
unusable by the hacker. (2]
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Sticky Note

No marks. 
Candidate mentions ‘encoding’ but this is not enough without an explanation. 






(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and lnou'nr maasura that would make the data
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Sticky Note

One mark for encryption. 






10

Examiner

[
7. People who regularly shop at an on-line supermarket are able to view past orders and amend o

contact details. This data could be subject to accidental damage.

(c) A computer hacker might try to access customer payment details to copy and use the
data for financial gain. Describe one measure the supermarket should have in place to
prevent the hacker accessing the data and another measure that would make the data
unusable by the hacker. [2]
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(c] Explain why a two dimensional array would not be a suitable data structure to store all the
data about one child. [2]
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(c)  Explain why a two dimensional array would net ba a suitable data structure to store all the
data about one child. [2]
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fc) Explain why a two dimensional array would not be a suitable data structure to store all the
data about one child. (2]
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(el Explain why a two dimensional array would not be a suitable data structure to store all the
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Answer

Mark

AO1

AO2

Array can store one type of data
There are many different data types being stored about one child







(c] Explain why a two dimensional array would not be a suitable data structure to store all the
data about one child. [2]
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Sticky Note

Good answer worth two marks. 






(c)  Explain why a two dimensional array would net ba a suitable data structure to store all the
data about one child. [2]
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Sticky Note

Answer has the idea that the pupil data contains different data types but not that an array could only store one data type so only one mark. 
Candidate has said that a record was suitable but this question was not asked. 






fc) Explain why a two dimensional array would not be a suitable data structure to store all the
data about one child. (2]
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Sticky Note

Good answer worth two marks. 






(el Explain why a two dimensional array would not be a suitable data structure to store all the
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Sticky Note

Answer has the idea that the pupil data contains different data types but not that an array could only store one data type so only one mark. 






2. Data about children attending a nursery is stored on a computer system.
(c) Explain why a two dimensional array would not be a suitable data structure to store all
the data about one child. 2]
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Lo e detabose than an

fa) A computerised dalabase system stores data about books and the members of a library.
Describe how the library benefits from using this database. 13]

A FHe The dedabese  allows Staf
h»fju e Ry and. . {.c.:x.:u'..fj_ fad. a speafie. ..

rMove @(ﬁc. N N S A N 108 AT > 0 ...H...mi....b.&ﬁ.fﬁﬁ

Do Se o) :ef__tj_'idemr AW datobdge  has

ond YLl Ht wgd? cueh oS %ffﬁiﬁb

vanoge wiormakion . Tt stafl canalse
gek the best our of Heic \brarg g
wsing Nfpfl | ~fyrpetion stored.” T







fal A computerised database sysiem siores data about books and the members of a library.
Describe how the library benefits from using this database. 3]
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(8} A computerised database system stores data about books and the mambers of a library.
Describe how the library benefits from using this database. [3]
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(a) A computerised database system stores data about books and the members of a library.
Describe how the library benefits from using this database. [3]
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